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Cluster: 0083 ptr; resid: 0.30; r/c: 33/63
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upstream meme PSSM #1; e=300
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upstream meme PSSM #2; e=1.3e+04
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47017

47242

47613

48912
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49908

5005354092

6934

7634
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3131−0.04
49908−0.05
41091−0.06
46371−0.07
42428−0.30
46999−0.37
20342−0.45
49518−0.48
19122−0.50
32139−0.50
46452−0.57
47017−0.57
43323−0.59
47242−0.77

6934−0.91
46453−1.04
32588−1.10
38166−1.71
14138−2.77
38548−3.13

7634−3.21
46888−3.25
47613−3.72
12312−3.92
43322−4.06

9283−4.35
13752−4.35
50053−5.63
45079−6.40
54092−7.04
45542−7.72
48912−8.75
41785−9.19

log10(P) upstream meme1 2 log10(P.clust)=−2.65; 33 seqs; 33 uniq
c(0.5, 2.5)
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